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Two pipes D and E, can fill a cistern in 26 and 78 hours 
respectively, while working alone. If the two pipes are 
opened together, the time taken to fill the cistern is:
दो पाइप D और E, अकेले काम करते हòए एक टंकì को øमशः 26 
और 78 घंटŌ म¤ भर सकते ह§। यिद दोनŌ पाइपŌ को एक साथ खोल 
िदया जाए, तो टंकì भरने म¤ लगने वाला समय है:
a. 18.25             
b. 19.25            
c. 19.5            
d. 18.33
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A shopkeeper buys three products a, b, and c and sells 
them at 20%, 30%, 40% profit, respectively. What is 
the ratio of the selling price of these products, if the 
ratio of their cost price is 4:3:2?
एक दुकानदार तीन उÂपाद a, b, और c खरीदता है और उÆह¤ øमशः 
20%, 30%, 40% लाभ पर बेचता है। इन उÂपादŌ के िवøय मूÐय 
का अनुपात ³या है, यिद उनकì लागत मूÐय का अनुपात 4:3:2 है?
a. 34:54:12             
b. 48:39:28            
c. 56:26:21            
d. 24:39:14
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If P:Q = 4:5 and P:R = 2:3, what is 3P:4Q:5R?
यिद P:Q = 4:5 और P:R = 2:3, तो 3P:4Q:5R ³या है?
a. 6:10:15             
b. 4:9:11            
c. 8:12:17            
d. 3:5:7
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A can do a piece of work alone in 9 days. B can do the same 
work alone in 18 days while C can do it alone in 27 days. They 
work together and complete the work, and receive a total of 
Rs.726 as payment for doing the work. What is the combined 
share of B and C, taken together from the above amount?
A अकेले िकसी कायª को 9 िदनŌ म¤ पूरा कर सकता है। B उसी कायª को 
अकेले 18 िदनŌ म¤ कर सकता है जबिक C अकेले उसी कायª को 27 िदनŌ 
म¤ कर सकता है। वे एक साथ काम करते ह§ और काम पूरा करते ह§, और 
काम करने के िलए भुगतान के łप म¤ कुल 726 Łपये ÿाĮ करते ह§। उपरोĉ 
रािश म¤ से B और C का संयुĉ िहÖसा िकतना है?
a. Rs.270             
b. Rs.300           
c. Rs.330            
d. Rs.360
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An article is sold at a loss of 40%. The nominal loss is 
approximately what percentage of the selling price of 
the article?
एक वÖतु 40% कì हािन पर बेची जाती है। नाममाý हािन वÖतु के 
िवøय मूÐय का लगभग िकतना ÿितशत है?
a. 66.67%             
b. 38.33%           
c. 41.33%            
d. 51.33%
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A person spends 40% of his monthly income. The 
monthly income of the person is increased by 15% and 
his expenditure is decreased by 22%. What is the 
approximate percentage increase in his savings?
एक Óयिĉ अपनी मािसक आय का 40% खचª करता है। Óयिĉ कì 
मािसक आय 15% बढ़ जाती है और उसका Óयय 22% कम हो 
जाता है। उसकì बचत म¤ लगभग िकतने ÿितशत कì वृिĦ हòई है?
a. 40%             
b. 44%           
c. 32%            
d. 36%
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A container contains a mixture of two liquids, A and B, 
in the proportion 7:5. If the 9 liters of the mixture is 
replaced by 9 liters of liquid B, the ratio of the two 
liquids becomes 7:9. How much of liquid A was there in 
the container initially?
एक कंटेनर म¤ 7:5 के अनुपात म¤ दो तरल पदाथª, A और B का 
िम®ण है। यिद 9 लीटर िम®ण को 9 लीटर तरल B से बदल िदया 
जाए, तो दोनŌ तरल पदाथŎ का अनुपात 7:9 हो जाता है। ÿारंभ म¤ 
कंटेनर म¤ िकतना तरल A था?
a. 21 liters             
b. 35 liters           
c. 40 liters            
d. 19 liters
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Kirti invested a sum of money at a certain rate of simple 
interest per annum for 3 years in Bachat Scheme. Had she 
invested the same sum in Shiksha Scheme for 3 years which 
has a 2% higher simple interest per annum, the investment 
would have fetched Rs.540 more. How much did Kirti invest?
कìितª ने बचत योजना म¤ 3 वषŎ के िलए ÿित वषª एक िनिĲत साधारण 
Êयाज दर पर एक धनरािश का िनवेश िकया। यिद उसने समान रािश को 
िश±ा योजना म¤ 3 वषŎ के िलए िनवेश िकया होता, िजस पर ÿित वषª 2% 
अिधक साधारण Êयाज है, तो िनवेश से 540 Łपये अिधक ÿाĮ होते। कìितª 
ने िकतना िनवेश िकया?
a. Rs.9500
b. Rs.9000           
c. Rs.7000            
d. Rs.8000
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A sum of money becomes two times of itself in 8 years at 
simple interest, and it becomes four times of itself in 2 
years at compound interest, when interest is compounded 
annually. Find the ratio of the rate of simple interest to 
the rate of compound interest offered per year.
कोई धनरािश साधारण Êयाज पर 8 वषŎ म¤ Öवयं कì दोगुनी हो जाती 
है, और चøवृिĦ Êयाज पर 2 वषŎ म¤ यह Öवयं कì चार गुना हो जाती 
है, जब Êयाज वािषªक łप से संयोिजत होता है। ÿित वषª िदए जाने 
वाले साधारण Êयाज कì दर और चøवृिĦ Êयाज कì दर का अनुपात 
²ात कìिजए।
a. 2:3
b. 3:5           
c. 5:3            
d. 1:8
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A smaller circle touches a bigger circle internally and 
also passes through the center ‘O’ of the bigger circle. 
If the area of the smaller circle is 192 cm square, the 
area of the bigger (in cm square) is:
एक छोटा वृ° बड़े वृ° को आंतåरक łप से Öपशª करता है और बड़े 
व°ृ के क¤ þ 'O' से भी गुजरता है। यिद छोटे वृ° का ±ेýफल 192 
सेमी वगª है, तो बड़े वृ° का ±ेýफल (सेमी वगª म¤) है:
a. 768
b. 384           
c. 1024           
d. 720
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The HCF and LCM of two numbers are 5 and 120, 
respectively. If the sum of the two numbers is 55, the 
sum of the reciprocals of these two numbers is equal to: 
दो सं´याओ ंका HCF और LCM øमशः 5 और 120 ह§। यिद दो 
सं́ याओ ंका योग 55 है, तो इन दोनŌ सं´याओ ंके ÓयुÂøमŌ का 
योग बराबर है:
a. 55/601
b. 11/120
c. 120/11        
d. 601/55
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Ranveer bought a computer paying 25% less than the 
list price and sold it to his neighbor at a 40% profit on 
his purchase price. The profit percentage earned by 
Ranveer on the list price of the computer is: 
रणवीर ने सूची मूÐय से 25% कम भुगतान करके एक कंÈयूटर 
खरीदा और इसे अपने खरीद मूÐय पर 40% लाभ पर अपने पड़ोसी 
को बेच िदया। कंÈयूटर के सूची मूÐय पर रणवीर Ĭारा अिजªत लाभ 
ÿितशत है:
a. 10%
b. 7.5%
c. 6.67%        
d. 5%
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A thief escapes from a police station at 8:00 am on a 
cycle at a speed of 50 km/h. A policeman starts chasing 
the thief on a motorbike at 9:30 am, at the speed of 65 
km/hr. At what distance from the police station will the 
policeman catch up with the thief?
एक चोर सुबह 8:00 बजे 50 िकमी/घंटा कì गित से साइिकल पर 
सवार होकर एक पुिलस Öटेशन से भाग जाता है। एक पुिलसकमê 
सुबह 9:30 बजे 65 िकमी/घंटा कì गित से मोटरसाइिकल पर चोर 
का पीछा करना शुł करता है। थाने से िकतनी दूरी पर पुिलसकमê 
चोर को पकड़ लेगा?
a. 35 km
b. 310 km
c. 325 km        
d. 300 km
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A and B leave from point M at the same time towards point 
N. B reaches N and starts towards M instantly. He meets A 
at point O (between M and N). The distance between M and 
N is 245 km. If the speed of A and B are 26 km/h and 65 
km/h, respectively, then the distance between O and N?
A और B एक ही समय म¤ िबंदु M से िबंदु N कì ओर िनकलते ह§। B, N 
पर पहòंचता है और तुरंत M कì ओर चल पड़ता है। वह िबंदु O (M और 
N के बीच) पर A से िमलता है। M और N के बीच कì दूरी 245 िकमी 
है। यिद A और B कì गित øमशः 26 िकमी/घंटा और 65 िकमी/घंटा है, 
तो O और N के बीच कì दूरी ³या है?
a. 115 km
b. 105 km
c. 95 km        
d. 140 km

SSC MTS 5 July 2022 – Shift II



@mathsbyanjan
@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

@mathsbyanjan

Ranbir bought a car at a 50% discount on the cost price 
of the car. Had he got a 60% discount, he would have 
spent Rs.100000 less. Calculate the cost price of the car.
रणबीर ने कार के लागत मूÐय पर 50% छूट पर एक कार खरीदी। 
यिद उसे 60% छूट िमलती तो वह 100000 Łपये कम खचª करता। 
कार कì लागत मूÐय कì गणना कर¤।
a. Rs.15 lakhs
b. Rs.20 lakhs
c. Rs.18 lakhs
d. Rs.10 lakhs
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The average of six consecutive odd numbers is 26. Find 
the difference between the largest and the smallest of 
these numbers.
छह øमागत िवषम सं´याओ ंका औसत 26 है। इनम¤ से सबसे बड़ी 
और सबसे छोटी सं´याओ ंके बीच अंतर ²ात कìिजए।
a. 8
b. 16
c. 10
d. 12
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B is 10% more than A. C is 20% less than A. B is what 
percentage more than C?
B, A से 10% अिधक है। C, A से 20% कम है। B, C से िकतने 
ÿितशत अिधक है?
a. 45%
b. 27.5%
c. 37.5%
d. 25%
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A and B together complete a piece of work in 18 days, B 
and C can together complete the same work in 24 days 
and A and C can together complete it in 36 days. In 
how many days can A, B and C, working together, 
complete this piece work?
A और B िमलकर एक काम को 18 िदनŌ म¤ पूरा कर सकते ह§, B 
और C िमलकर उसी काम को 24 िदनŌ म¤ पूरा कर सकते ह§ और A 
और C िमलकर उसे 36 िदनŌ म¤ पूरा कर सकते ह§। A, B और C एक 
साथ कायª करते हòए इस कायª को िकतने िदनŌ म¤ पूरा कर सकते ह§?
a. 19
b. 16
c. 20
d. 14
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Thank You
धÛयवाद 


